EFEETTO DELLA CRPACITA D GIVN2(ONE @\
Vedi evno cran {’[r/%ﬁ ((;“o ‘ MQ/@Z& ce,umﬂcm o Xu ¢ oo 717/&,&4)& /c@% C’CQ//‘(;QC,}Z(
&A &TWMUW C ) e&l%&‘/\u&v@( /,pq/@[/‘,\ j—e/umw [«w,i’«'/& w@ég ?(w/tl(w

/\}b }fLuM( J—f
Cro

C =

C ¢ JX/JMI(M LOULR Cui,«cu/(ﬁq\ MWM C = & dove C/%\ ¢
| Iy

) : : . ~
/éﬂl (LA ML ‘@/%* 7’LML(W( 67!1”'“"& /62& r.eku%f M/‘“/ﬁ <

’EDZ&: 0{}620(@_0\‘6@

gt dm de m

OUM}M W&lcw Ve U?&L« , Lo M(W e Q@WZ-( o OJ(_’ UM/Z)\ G%W/é}(“
[ ‘-uug/& ,(/7/%4/& . ,SUW«.MUW er 06« RAMA 7(«\ V)’(7u(}€> 7(/94/3\ M@/@@ )
¢ dr comsreu /('* ferua oot /UBL(H:\/DL QDUJL& - °°°r« M V&M(’o
M au,w{'v o V\Lcc,e’& %M A o““w WLC&A@"‘V& /UD :/UBL + AN

WKAVKD - IL@MLW JA%WW& (a We ¢ w1> AM@/{/H (\w\ y/\xcw/aﬂ vé« /VM.

L o fobdi 0l dods ¢

J(‘DU) = C}:’VDL«-UJ . ”i«ﬁu ey




auwf» /{\‘(Alwl‘p /60 7\/('(1/;’,“}/\)0 gé\ 7@7//&)1 . i\k(/@\(,wu(/,o LU C H’) = CJ[/U;)L.(H\T &E/)
2 ohe o ot i Lesomnr n ordbis

[ A, . A c ‘
(= Cl) ==+ w).”—(i* : / 'w'f(gk

" AL ' ST |
Vi,

l( V\MM \—awlw gk /ZO« c,m/wutl'( A w(,/V/{M 3\ V\OLK l/@L% c%w/&m w M
Y/ ”j/[ov«
’)’(7/«1&/& o La usm,MLL—f N Y\,k(ce/(o 7»\

‘ » J(AJ\ AC ﬂ“fm -
)= Clt) 57 / LA ) -
AE AV o m
o dro A gy e g

M

Lo wlorvioas P-4 < CCUM«/(" V(/\[/"(Lu vavwz(uo (wkm ;{7)
|

ouuxw\ww\l/( PWV\)J ~VeUiwh =
@WULM mvw»»wz—vw ¢ %(Z/MW& /L{,a/@\ /U\DVZ.(/U\‘DI w kil %Wx»
TWKL\

\
Voo Ut - :Z— \/Dp\ ¢ fcoc.

DﬁDV{ Jro. \/D}L {\ (,O/(M}«/(//WQ (.Q € c. Lmoﬁxcq /&-ﬁ@h&:&:uﬁ:& ((
(/QUW‘ZQLJ M bM\“W LUM'%>




()

C(H’ \( “’) feNCUD Lk Ll [ i Vé Fow/%'ve/(

W, t ~7w¢\

Cltl= CD+<01 L>w bt = C, o+ Cc <’€l + ¢ J

tew C = /\‘ ¢ 76/(,4\/(/& C&radlz\\ 0(\ SO LT QMR
C 9 L

IIAU{(,(

sl AC / /)
C U’) = W/ -(.. wl.%(, A (UL<

V:\/oz/w’%é'
¢ ona e i Fovnee ol ol sl ,&0 o MW‘X Lﬁ yobo feonns A
st 4 ,Jﬂuw& (TW"‘L(’)

L S AC, ~we Uy w® | E el

x AV
R V= Vil en®s
A
- _ﬂ,)“& %/ WA T AL\/DL O“/C>
§ -7 \/:\/V)LW’T

(<)

0 P "{(WL(T ’Y'W‘—t‘
(c(uu«/u C'(HZ‘L’ULL:’. WWLP:*‘TWLCC({ §€ J




\AM!\A\"\VC\ [ W V:Uom*’U?a:

. . W -
twe b TWet 1 W
{\((/} - 70 _(_A—)—[L an\ CO 6 + 'f _(.*),i—-\ \/DI @Q Q + 7 _é—(: \/D‘_I_ CC -e,
2

‘ "W ls 1w, |
7WLL— T We b z

, VL - . .
+ 7%\/01 C)c ¢ + ZVDI TWLGcQ - E\/D&TWL CCQ +c.C

:(T‘&})_Ecovm_ +%_w_@<‘ic\/oz)€ +
Z |

-(‘ UJ;{_):

. &

ezt &FMM lmw‘&kb"/% A covenlt 1 hova allon

I

il

o, = TWCo Vo +7wp Co Vo

IDI_ - YU‘)P‘ C)O \/QYL _“7(/0(3\ CC \/D:[_

o




. g s
(l/\ "WM(M X\N<Wé\« [’W‘/A ‘/MU\ WWL ( j)/:,/g?m{e:.(_zcx u)(L L w1> &
. e ZI\

g P
7w Co \/DQ_ wﬁ'/wp_(? *'%\CL/"L \/Dl mwp‘\e -
e} e I < 2
e -
e e

- D

[°\ fm.aLwac f//_ M //\D&go jAuMJ‘a p[uwu/& (ﬁgﬁgq,@mgé;

(%o”\w&fo g - wg (A
\—%c";wfcc’% Go + T Wz Co
M (uw\/eo\ lowawudwz/gw yﬂaum,@\‘wﬁl’b\ia wR){mCC;:LCi

l,a\ ﬂ\///\ By CANLL QUL

2% cofenc

/wl( V o WQ (l(u MM}/‘/"\)CQ e /, Wv)_% .

f&k— .,.&:aﬂ-ﬁ& %M—@ %ﬂw& A ué)[/((o
IU’/&L WA:{% a@u(utjdt‘o s C@“U(/V“ﬂ ,G,(,L ﬁTvazzcw\ N Ao “wywj;

R ccovdowdo gﬁa/@z\m%« shiriaun e Yiw o Yooe he four o I o
bao ha

¥- -
*[ \ *'(az_ y %L
T Y s
\ \/1& + {/L y“ - yS i x5

Sm\ﬂ\-vw-t/b \/(,% VA Vs :e?l cc/( V&wwww(o L VQW”IMM“LM 2 }ww

MRARS AN
YL;(YH"L/5> + (A‘é * fau %)




ﬂ(ik i %7(/«' /glc?uuu@u& (//A‘?'CWU-U['O 7/'«61943“/‘ ys

U W (00 0483 ) 1 = (o - 80 -

oVt

Re(fe) Y v 7 TV Vi + Bg) Y% = Re (V5 By)= O

(/{.u(/zlu .e?rual-c@uu lna\ /LQ_(A(,( COU D OMMWM O \{M\Ma_cé\ww& “w r\c/zp\ < I/Lw’é) vLo
)m“/é( /Lg Y\ML_ uw/é\ 0&% y(u,z /LQ[/Z\(_‘/( OO ZU(V\(/K Mwmtwb

Wm/'( € 7@/60 ]uégg\ & [‘kmv(“ ﬂa/g f:%ﬂrl‘*‘“\ l@» Ve a(wtaf/u/o([o\

Pectom ko uldl

k ‘/&“ UUL\'L g aniq Huguo e Lt Y ‘/Wé‘
r ’ g hale U

gavw.ujo\ MW@/LW(»\ Va WL:; Seto e ‘-ow.uvu- o+ Aavan

[/MU\ W(}[v\ (WE‘-@/é/“(b\ ys 20 U ave LUAL/L& %, e > (‘uo\ l/(n/é‘/éw /g\
[“"U/LL” Jf\ T L R VK‘—E/%\ W,\AQ/M(W A QT , oot v = ZS

C((_ 2 -+
1ol A
!A«é*(/u\/(_) Rj




1371072

T:=300 kB 0 kB~T=O.026 VDL'TO.Z,OAZZA, 0.5
1.602.10
Diode N =112 o= 1g=(10 V.22 R, =8
data kg Tn
LO oscillator power Py =1 mW Resulting LO diode voltage Vpix =04

Conversion conductance go(VpL) =olglo <a- \% DL>
\

. \

g9 (V DLX> =0.092

, -
g c(v DLx) =0.088

. . YL / / o] . ‘2‘\(>0,5)
Optimal ideal  Z (Vp ) = (go(VpL) - 8¢(VpL)) Z o(V pLy) =40626
impedance
{ [ { 11
/ 2 Voo / Vi 2 )
Minimum ideal | /., ) - IOIOgl{z/go(VDL,\\\ +§2/gO<VDL>\ ‘,/gO\VDL_)\{ 1 IJ
' . =10 ST DL 29 DL -
conversion loss il DL | Tleevor | | leelVoL) [ edVor| i
Y(Vpy) S[BolVou) aelvou)) (VpL) =Y(Vpr )V N \)
\VDL) " [ \ v R\YDL) “*\VDpL) "
‘ -2¢(VoL) go(VpL) / 10 Ry
'\ admi / 7 D
Real admittance YR~VDL> : ZR\VDL)
matrix v ‘
Vo / \ / v o
gor(VpL) “YR(VDL), | g0R|VDLx) =0.039
/ oo/ / ' \ o=
o gcrR(VDL) “(\'YRKVDL,D” gcr(VpLx) =0.035
Optimal impedance <

v 9\ (-0.5)
oR DL)’:/gOR‘\ DL)Q“gcR\ DL’ ]
Zor(VpL) = (80rVDL) (VL) >

/ N
Z ORi\V DLX) =64.334

1 ooy | Ve gy 112 i
Minimum ; '2or(VDL) 1 ‘ [80R{ DL/ | '20rVDL) |
conversion loss (VY DL) = 101og 2'1 YR et | v
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a 13710 B -
T :=300 kB TS kB~T =0.026 VDL '=0.2,022..05
1.602-10
Diode n =112 amot Ig =(10)"722 R =8
data kg Tn
Cio =0510"  ¢=06
LO oscillator power Pry =1 mw Resuiting LO diode voltage VpLx =04
Conversion conductance go{\' % DL> ‘:(x‘IS-IO<cx<VDL> 80(VDLx ) =0.092
\ ) N ; v
go(VpL) =olgl(aVpy) 8¢V ppy) =0.088
‘, 9 . 9 1
coR‘—2-7r'10-10 oL =2-19-10 DETOR- O, — =31.831
- (DRCJO
Conversion C. o [™
capacitance Co(Viy ) =32 o ! dt ColVipy) =5565:10
olVpL, ", E e 0V DLx) =
| «;‘d}_ V pL cos(t)
-7
roe
C..np ™ , ; _
C C{VDLS - 30 : i COS(t) dt C C(V DLX> =1.084"10 13
2m N}(bv V prcos(t)
Jom

/go(v)*j @R C (V) ~g(V)-j -wrC (V)]
Y(V) =
118c(V)-1 0pC V) go(V)+) 0pCo(V)

- Ry 01
Zr(VoL) “Y(VoL Ut g g
S/
Actual admittance / . , NE )
matrix Yr(VpL) =Zr(VpL)
- \
[ 0.041 + 0.015i -0.035 + 4.071-10 °i |

YolV V=
R{Y DLx/ . .
—0.034 + 6.431-10 "1 0.039 + 2.941-10 "1 |
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b(Vpy) = YR(Vpr) Yr(Vo), .« [YR(VDL) /i

Optimal source [ I 2 VY
impedance . b(Vpp)+o(Vpy) - 4a(Vpp je(VpL) |
Ys(Vpr) 7| —

Zo(Viy) = Z o[ Viy o) =25289 +23.357i
s(VpL) A s VpLx)
Ys(VpL) ‘

[ / Vo AU Vi
- [Yr{VoL) *¥r{VDL), , YsVDL)|
i - |

, . 1
/ v / \ ; Zi (V)=
i Y R{V DL)Q o +Y S (\V DL/“ i L\,\ DL/

Y1 (VpL)

Optimal
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| 1 , . Re(Y(VpL)) 1
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1:=1,2..16

Resistive mixer, noc Rs

Resistive mixer

Capacitive mixer, 1 GHz

V. =02+ (i~ 1):0.02

RO, ‘= READ(res0)

R. :=READ(res)

COi '=READ(cap0)

Capacitive mixer, 16 GHz C, =READ(cap)
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